INSTALLATION INSTRUCTIONS

Nudge Bar suitable for Ford Ranger PX 2012-2015

Before Installation

® Please read all the information in this document carefully to avoid any errors or confusion
during installation.
® The goods you receive may have minor differences than shown in this document. However, the

installation process is still the same and is useful for reference.

Care and Cleaning

Mild detergents may be used to clean this product. Periodically check and re-tighten all hard ware

to ensure that the product is installed safely.

Parts list

NO. | QTY PICTUER NO. | QTY PICTUER

®

L-mount bracket R-mount bracket

Page 1 of 3




INSTALLATION INSTRUCTIONS

-

5 @ 10
Hex bolt M10-30 Lock washer D10
11 ° @ 4 .
Big washer D10(10x30x2.5mm) Hex nut M10
N o T
Hex bolt M10-90 T-bolt M10

J

Upper Brackets

\S

Hex bolt M6-20

Big washer D6

o

Lock washer D6

Page 2 of 3




INSTALLATION INSTRUCTIONS

Installation Steps'

INSTALLING DIAGRAM

4/516/7

4/5/6/8

Install the grille guard and brackets to the vehicle follow the installing diagram.

NOTE

Any damages and losses caused by improper installation and application, goes beyond our quality
warranty.

Page 3 of 3




